D The fﬁl]DWing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

The number of Colleges offering the Python course is more
than 460 in

1. All the four states

2. Only three states

3. Only two states’

4, Only one state
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[Question ID = 701][Question Description = 101_0_GP28_0CT22_52_Q01]
1 [Option ID = 2801]
2 [Option ID = 2802]
3 [Option ID = 2803]
4 [Option ID = 2804]

A wpN =



2) The ftﬁl]owing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

The total number of Colleges-offering Al in all the four
states is

1.2784

2.2816

3. 2864

4, 2552
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[Question ID = 702][Question Description = 102_0_GP28_0CT22_52_Q02]
1. 1 [Option ID = 2805]
2. 2 [Option ID = 2806]
3. 3 [Option ID = 2807]
4. 4 [Option ID = 2808]



3) The ftﬁl]owing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

if M and N represent the total number of Colleges offering
Python and Java, respectively, in all the four states, then M-
N=

1.64

2.96

3.48

4. 32



[Question ID = 703][Question Description = 103_0_GP28_0CT22_52_Q03]
. 1 [Option ID = 2809]

A wnN =
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C |[74% (658 %[84 % 36 % (20 %

D 1689% |64%68% 70 % 130 %
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1. 64

2.96
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2 [Option ID = 2810]
3 [Option ID = 2811]
4 [Option ID = 2812]



4) The ftﬁl]owing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

Ratio of the number of Colleges offering Multimedia in
State C to that of State D is

1.2:3

2.11:13

3. 7417

4,13:16
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[Question ID = 704][Question Description = 104_0_GP28_0CT22_52_Q04]
1. 1 [Option ID = 2813]
2. 2 [Option ID = 2814]
3. 3 [Option ID = 2815]
4. 4 [Option ID = 2816]



%) The ftﬁl]owing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

Number of Colleges offering Java in State B is ----% of the
number of Colleges offering Al in State C,

1.78.15

2.8023

3. 82.25

4, 8452
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[Question ID = 705][Question Description = 105_0_GP28_0CT22_S2_Q05]
1. 1 [Option ID = 2817]
2. 2 [Option ID = 2818]
3. 3 [Option ID = 2819]
4. 4 [Option ID = 2820]

Topic:- 13_GP_SH1_S2_B
L Which of the following Developmental areas of individual
differences will be effected, if a Child opts for frequent out
bursts and throws tantrums?

1. Social

2. Mental

3. Emotional

4. Physical
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1. TS

2 JAFS

3, HaTTES

4. IRIRG

[Question ID = 706][Question Description = 106_0_GP28_0CT22_S2_Q06]
1. 1 [Option ID = 2821]
2. 2 [Option ID = 2822]
3. 3 [Option ID = 2823]
4. 4 [Option ID = 2824]

2) Which of the fellowing is outside the Teacher-
Centric Methed?

1. Demonstration

2. Team teaching

3. Inguiry approach

4, Lecture method

Fafotea ¥ 4 oF Ree-oisd A & srria 381 o &2
1. f35Em
2. 5a (E1H) e
3. S 3UFTH
4. g faiy

[Question ID = 707][Question Description = 107_0_GP28_0CT22_S2_Q07]
1. 1 [Option ID = 2825]
2. 2 [Option ID = 2826]
3. 3 [Option ID = 2827]
4. 4 [Option ID = 2828]

3) Which aspect indicates to be the most relevant in decision

miaking process according to Kohlberg's theory of moral
development 7

1. The age of the Child

2, Knowledge of Law

3. Influence of friends and Siblings

4. How the child arrives at Conclusion

Bigaat & ia® [GETE & GSid B JTaR o ufea
®IH-T1 U4 GaNu® WenTe o ®] AR SH1d Bl 87
1.5 3l A
2. B @1 I
3. i3l vd weie] @ UHE
4. 591 (o5 & Poaar &



[Question ID = 708][Question Description = 108_0_GP28_0CT22_52_Q08]
1. 1 [Option ID = 2829]
2. 2 [Option ID = 2830]
3. 3 [Option ID = 2831]
4. 4 [Option ID = 2832]

4) Which among the following are the MOOCs; Platforms 7

A. Google Mest
B, Coursera

C. Zoom

D. Future Learn
E. Turnitin

Choose the correct answer from the options given below,
1.A Dand E only
2.B, D and E ornly
3.B and D only
4. C and D only

T T 9 oH 4@ <o (49 §7
A TITE HIZ
B. BT
C. 9H
D. W @
E. TR
i ey e Aol S W1 IR 9 ;
1. 390 A DR E
2. %dd B, D AR E

3,?:?13561’1?13
4. HIACIRD

[Question ID = 709][Question Description = 109_0_GP28_0CT22_52_Q09]
1. 1 [Option ID = 2833]
2. 2 [Option ID = 2834]
3. 3 [Option ID = 2835]
4. 4 [Option ID = 2836]



%) Match List | with List 1l

List | List I

-Il_-ey::ns;:; Meaning

A. Factual I. This Learning is used to organize
Learning informatian in logical structure

B. Association |Il. This Learning is used to develop
Learning personality and think coherently

C. Conceptual |[lIl. This Learning is used to organize
Learning sequence of activities to achieve a goal
D. Procedural |1V, This Leaming is used to connect with
Learning information more deeply and accurately

Choose the correct answer fram the options given below:
TA-ILB-IV,E-,B-Ill
ZA-ILB-LC-NIlLB-IV
A-ILB-L,E-VD-1
4A-N,B-LC-IV,D-1

gl - -1l

A & PR |y

A THRD I, 56 HRITH &1 3TN g9 3 dlio® 9
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TA-ILB-IV,C-L, D=1
ZA-ILB-LC-lILB-IV
AR =L E = IVVB =
4A-,B-LC-IV,D-1l

[Question ID = 710][Question Description = 110_0_GP28_0CT22_52_Q10]
1. 1 [Option ID = 2837]
2. 2 [Option ID = 2838]
3. 3 [Option ID = 2839]
4. 4 [Option ID = 2840]



6) One of the aims of qualitative data analysis is to
1. Expand the Selected text or material
2. Analyse the researcher’s credentials
3. Describe a phenomenon
4. Focus on binary dissection

st P OIS AZATY & GaIT H 4 U & ;
1. T 916 41 Al &1 T9%aR ®RA]
2. TiE@diAl & UAd| B Gy @il
3, Tl oRua &1 avia &3
4, TgafToies fwsea U & Shiad

[Question ID = 711][Question Description = 111_0_GP28_0CT22_S2_Q11]
1. 1 [Option ID = 2841]
2. 2 [Option ID = 2842]
3. 3 [Option ID = 2843]
4. 4 [Option ID = 2844]

7) Virtual ethniography is Iccated ina/an

1. Natural environment
2. Technical environment
3. Political environment
4, Fconomic environment

ST T g GaR & URaN & Efd g 8
1. Fufi® oiay
2. HID] gRag
3. TeITa® aivae
4, 31T giam

[Question ID = 712][Question Description = 112_0_GP28_0CT22_52_Q12]
1. 1 [Option ID = 2845]
2. 2 [Option ID = 2846]
3. 3 [Option ID = 2847]
4. 4[Option ID = 2848]



8 . . = i
) The major ethical aspects of survey based research are;

A, Protection of Participants from any kind of harm.
B. Publicise the engagement of participants

C. Distinguish between different Strata of People.
D. Not to affect individual Privacy,

E. Use individual Privacy for Private Profit,

Choose the correct answer from the options given below,
1.A Band Conly
2.B, Cand D only
3.A Cand Eonly
4. A and D only

A& e Ty & U AT0® Ued e ;

A, GEMIFT! &1 68l TSR ®I 5114 4 ST
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[Question ID = 713][Question Description = 113_0_GP28_0CT22_S2_Q13]
1. 1 [Option ID = 2849]
2. 2 [Option ID = 2850]
3. 3 [Option ID = 2851]
4. 4 [Option ID = 2852]



%) Which of the following are advantages of content analysis?

ftisa;

A, Transparent research method

B. Non- reactive method

C. Flexible method

D. Method that does not need a coding manual
E. Method that is free of any kind of framework

Choose the correct answer fram the options given below;
1.A Band Conly
2.B, Cand D only
3.C, Dand Eanly
4. A DandEonly

Pt # 4 - R o AR s oy g -
A, URGRI iy iafy

B. TR~ Wil ares wiay

C. T Tidfy

D. Uiy forgd ifeT g 1 S1awasd Tl &
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2. %adAB, CHRD
3.PadC DANE
4, FadA DANE

[Question ID = 714][Question Description = 114_0_GP28_0CT22_S2_Q14]
1. 1 [Option ID = 2853]
2. 2 [Option ID = 2854]
3. 3 [Option ID = 2855]
4. 4 [Option ID = 2856]



10 .
) Given below are two statements

Statement |: Positivism Says that Sciences need not be
free from Speculative and metaphysical approaches

Statement ll: Positivism is Suitable for natural Sciences

In light of the above statements, choose the most
apprapriate answer from the optians given below
1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement || is incorrect
4. Statement | is incorrect but Statement Il is correct

FaciavAE RumeE:
Y - | : TUATE Badl & [0 195 Bl HTAHES AR
wHifaE =P € gad 5 B HaaHdl Tel o
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[Question ID = 715][Question Description = 115_0_GP28_0CT22_52_Q15]
1. 1 [Option ID = 2857]
2. 2 [Option ID = 2858]
3. 3 [Option ID = 2859]
4. 4 [Option ID = 2860]

11 d . y
) Media messages-consist of various layers of

1. Rationalisation

2, Complex resistance
3. Polymorphic meaning
4. Restrictive rituals

Hitsar demt & Fafofea 3 4§ fooe Rty wd gidi & -
1. Diga@ie
2. WiEy ufcRiy
3. §g&U] Y
4, Jidde® FEH

[Question ID = 716][Question Description = 116_0_GP28_0CT22_S2_Q16]
1. 1 [Option ID = 2861]
2. 2 [Option ID = 2862]
3. 3 [Option ID = 2863]
4. 4 [Option ID = 2864]



12 T ; :
) A source of Communicative inefficiency is

1. Desire for Personal gratification
2. Implications of familiar relations
3. Peer Pressure

4, Limited Knowledge

HHT & @1 Gid HHiad H 4 @ 9 e ?
1. ST SO B 38!
2. guRiad Seyl & Ffsad
3. YD B GaE
4, Hifgd 34

[Question ID = 717][Question Description = 117_0_GP28_0CT22_S2_Q17]
1. 1 [Option ID = 2865]
2. 2 [Option ID = 2866]
3. 3 [Option ID = 2867]
4. 4 [Option ID = 2868]

13) Which of the following are elements of congenial

classroony atmasphere?

A Creating a conducive atmosphere

B. Engaging in individual efforts

C. Supportive team work

D. Negotiable movemernit inside the classroom
E, Immersive listening

Choose the correct answer from the options given below,
1.4, B and Eonly
2.4 CandEonly
3.B, Cand D only
4.C, D and E only
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[Question ID = 718][Question Description = 118_0_GP28_0CT22_S2_Q18]
1. 1 [Option ID = 2869]
2. 2 [Option ID = 2870]
3. 3 [Option ID = 2871]
4. 4 [Option ID = 2872]

14) Which of the following can be categorised as non-verbal

communication?

A, Pleasant Voice

B, Postures

C. Gestures

D. Facial expressions

E. Viociferous greetings

Choose the correct answer from the options given below:,
1.4, Band Conly
2.8, Cand Eonly
3. C, D and E only
4.8, Cand D only
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[Question ID = 719][Question Description = 119_0_GP28_0CT22_S2_Q19]
1. 1 [Option ID = 2873]
2. 2 [Option ID = 2874]
3. 3 [Option ID = 2875]
4. 4 [Option ID = 2876]

1 5
%) Given below are two statements

Statement I: Most of the time, communication is loaded
with pewer value,

Statement II: Those who do not have the power of
gommuriication always seek to possess it,

In light of the above statements, choose the most
appropriate answer from the optiens given below
1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement || is incorrect
4, Statement | is incorrect but Statement |l is correct
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[Question ID = 720][Question Description = 120_0_GP28_0CT22_52_Q20]
1. 1 [Option ID = 2877]
2. 2 [Option ID = 2878]
3. 3 [Option ID = 2879]
4. 4 [Option ID = 2880]

16) One day a man left his home for a morning walk and went

12 km southwards. He then turned right and walked 8 km.
Again turned right and walked 12 km, turned left and
walked 10 km. How many Killometers the man has to-walk
to reach straight to his home?

22 km

18 km

20 km

24 km

P R PN

T o1 0P o Yoo &1 OR & 100 R 4 o 31X 12
foosl] Sf&mT &1 SR 71T 98 99 a1; alfe-l SR 491 AR 8
foell = | Us R 1 Tife- J31 IR 12 6 9ar he el
SR {1 3R 10 T4 =el| afda @I 9iF 30+ W Ygud &
fore fva Toaiie 9o g7

22 fepHf

18 fepeit

20 Tt

24 Tl

[ -

Bow

[Question ID = 721][Question Description = 121_0_GP28_0CT22_52_Q21]
1. 1 [Option ID = 2881]
2. 2 [Option ID = 2882]
3. 3 [Option ID = 2883]
4. 4 [Option ID = 2884]



17 The price of a jewel, passing three hands, rises on the

whole by 65%. If the first and second sellers eamed 20%
and 25%: profit respectively, find percentage profit earned
by the third seller.

1.10%

2.15%

3.16%

4.12%

4! 1 @1 9oy, JiF [dearal § T[ed g¢ G9Yd: 65% 96
SIdl 81 9 Uy SR Tgai fadhal o SH: 20% 3R 25%
AT T 81aT &, @ gaid [desal g Hfsid afad oy 31
Bifon?

1.10%

2.15%

3.16%

412 %

[Question ID = 722][Question Description = 122_0_GP28_0CT22_52_Q22]
1. 1 [Option ID = 2885]
2. 2 [Option ID = 2886]
3. 3 [Option ID = 2887]
4. 4 [Option ID = 2888]

18) In an examination 42% students failed in Mathematics and

52 % failed in Science, If 17% failed in both the subjects,
find the Percentage of those Who Passed in both the
subjects,

1.23%

2.25%

3.27T%

4.30%

feoelt ol = 425 faamff 7o & ool 810 & ok s2%
G & ol 810 1 3fe 17 ot gt fauat 3§ sl
ST &, ol i [a9d] & Sl g ard faepiddl o uigwd
HIfey ;

1.23%

2.25%

3.27%

4.30%

[Question ID = 723][Question Description = 123_0_GP28_0CT22_52_Q23]
1. 1 [Option ID = 2889]
2. 2 [Option ID = 2890]
3. 3 [Option ID = 2891]
4. 4 [Option ID = 2892]



19) A 729 ml of a mixture contains milk and water in the ratio

of 7 ; 2. How much miore water is to be added to get a new
mikture containing milk and water in the ratio of 7 : 37
1.81ml
2.90 ml
3.85ml
4.75 ml

7% 729 el & Fyo d gu SR wa @1 U 7.2 8, 91 72
@ U1 H qY SR S o (Y9 Bl UIE & & (68 fda]
1. 81 fael
2. 90 el
3. 85 fH@l
4,75 Tt

[Question ID = 724][Question Description = 124_0_GP28_0CT22_52_Q24]
1. 1 [Option ID = 2893]
2. 2 [Option ID = 2894]
3. 3 [Option ID = 2895]
4. 4 [Option ID = 2896]

20) Find the next term in the series given below.

124, 148, 196, 268, 364, 7
1. 484
2. 584
3. 464
4. 268

= G1 773 S 5 e UG §id GBI ;
124, 148, 196, 268, 364, 7

1.484

2.584

3. 464

4, 268

[Question ID = 725][Question Description = 125_0_GP28_0CT22_52_Q25]
1. 1 [Option ID = 2897]
2. 2 [Option ID = 2898]
3. 3 [Option ID = 2899]
4. 4 [Option ID = 2900]



21) Which of the following statements are logically equivalent?

A NoPisS

B. Some S are non-P

C. Some non-P are not non-5
D.Some S are not P

Choose the correct answer from the options given below;
1.B and Conly
2.Cand D only
3.B, Cand D only
4 4B CandD

Feifrd s S oH 4 @y aib® ef 4 F9H &
A BIRPSTo edIel

B. PO STR-PE &
CPBIRPIRSTRI el gl

D.©®S PHsleld &

T f&u e faded § € 98] IR 9 ;
1. Haa B AR C

2. FEACHRD

3, Pad B, CHRD

4.4 8C3RD

[Question ID = 726][Question Description = 126_0_GP28_0CT22_S2_Q26]
1. 1 [Option ID = 2901]
2. 2 [Option ID = 2902]
3. 3 [Option ID = 2903]
4. 4 [Option ID = 2904]

22) "Considering the Speech given by the School Principal

taday, | would conclude that he is'net a good
Public Speaker.” Identify the informal fallacy committed in
the above argument.

1. Slippery Slope

2. Ad hominem

3. Appeal to force

4. Hasty Generalisation



T e & WEr gRI fol T8 4180 R R axd ge i
7g e FiaTel e 9 999 ol gaaT 98 & | Sude
TG # AT SFIBIRD e oIy B T iy ;

1. TR =i1Y

2. USEIEH

3. §0-318

4. @ A @

[Question ID = 727][Question Description = 127_0_GP28_0CT22_S2_Q27]
1. 1 [Option ID = 2905]
2. 2 [Option ID = 2906]
3. 3 [Option ID = 2907]
4. 4 [Option ID = 2908]

23) Which of the following is true regarding Inductive

argument?

1. if all the premises are true, the-conclusion must be
trise.

2.IT claims:to support its conclusion anly with some
degree of probability

3. It claims to Support its conclusion condusively

4. Conclusion is'completely contained already in the
premises

HTHATES Giad & a) H 1 91 &Y T8l 8 :

1. T% T HTUR 9199 9l & al [0y AFara: 98 8
el

2. 35 fred % TaYH @1 ga Baa ST @) 58
g s ol A gl

3. 394 Frey o wogef el @ a1 fea s g

4 9% e qofa: Ugd 9 € MU aren & Sfafay g
gl

[Question ID = 728][Question Description = 128_0_GP28_0CT22_S2_Q28]
1. 1 [Option ID = 2909]
2. 2 [Option ID = 2910]
3. 3 [Option ID = 2911]
4. 4 [Option ID = 2912]

24 - . i
) When inference is based not on causation but

on uniformity of co-existence, what is it called as per
Classical Indian School of Logic?

1. Kevalanvayi

2. Samianyatadrsta

5. Parvavat

4. Sef,avat



8 SH BH-BRU UG TR AU 7 5/ Ge-3iwa B
U@ T I AU Bl & ) d HROd 19 90 &
3FTHR F 941 B8l Sl & ?

1. SHaaaa

2. HHEFgAIEP

3. gdad

4. ¥9ad

[Question ID = 729][Question Description = 129_0_GP28_0CT22_S2_Q29]
1. 1 [Option ID = 2913]
2. 2 [Option ID = 2914]
3. 3 [Option ID = 2915]
4. 4 [Option ID = 2916]

25) Which of following is true regarding Classical Indian School

of Logic?

A, It isdeductive

B. It is inductive

C. It isformal

D. It is matenal

E, it always leads from universal to particular enly

Choose the correct answer from the options given below:
1.4, B Cand Donly
2.B and Conly
3. A and D anly
4 A B CDandE

Y10 IE T d@Hd & &R 4 Hgiied 3 8 @ 9@
Tele:
A T8 FTETES a8l

B. U8 HTHAIHD il 8

C. 98 IS el &

D. UE UG g g |

£, T8 Had U] WEU A a9y 1659 ©1 3R Ugd ol o

i f&u e faded § € 98] SR 9 :
1. @GAA, B.CHRD
2. FAAB AN C
3. FATAARD
4 A BCDINE

[Question ID = 730][Question Description = 130_0_GP28_0CT22_52_Q30]
1. 1 [Option ID = 2917]



2. 2 [Option ID = 2918]
3. 3 [Option ID = 2919]
4. 4 [Option ID = 2920]

26) MIDI is associated with the storage-of music files. MIDI is

an acronym for__
1. Musical Interactive Digital Interface
2, Musical Instructions Device Interpreter
3. Mask [terative Display Instance
4. Musical Instrument Digital Interface

TH 1S BT AR Tifa (i) gl & Yenu | g4
oH T 31 9 Meifea § 4 e Rt we ohadi o=t &
2. "l grac oY [SaIgH SeXhed
3. A% 3iciicg foud 3%y
4. FffSin e ggHe fefored geehd

[Question ID = 731][Question Description = 131_0_GP28_0CT22_52_Q31]
1. 1 [Option ID = 2921]
2. 2 [Option ID = 2922]
3. 3 [Option ID = 2923]
4. 4 [Option ID = 2924]



27)

Maohit has sent an email to Bobby, Danny and Ashok as
shown below;

From : Mohit@gmail.com
To : Bobby@gmail.com
Cc : Danny@gmail.com

Bec : Ashok@gmail.com

Subject : Important update

Dear

Colleague,

Please note that tormorrow’s meeting has been cancelled.
Regards-

Mohit

Which of the following statements is Correci?

1. Bobby and Danny are aware that Ashok received the
email

2. Danny is aware that Ashok and Bobby received the
email

3. Ashok is aware that Bobby and Danny received the
email

4. All recipients are ‘aware that the others received the
email.



Hifed 7 A1, T3 U5 P Bl 3 56 Hiod (60 & od 59
PLATE T K

From: Mohit@gmail.com
To: Bobby@gmail.com

Cc Panny@gmail.com

Bec: Ashok@gmail.com

Subject: Impertant Update

Dear Colleague
Please note that tomorrow’s meeting has been cancelled
Regard

Mohit

T an-w ey Tel 8l
1. 418l SR 590 1 T € fob SfR1e @Bl 3-+¥e1 Wi &l T
2. %‘;ﬂﬁfﬁﬂﬁﬁﬂ? ity 37 Sl @l §-Hr WIed & T
3. z;ﬁaﬁm%ﬁ?éﬁﬁ R 41 @1 §-57 U 8l
a4, ziﬁ%mﬁhﬁm‘rm%ﬁ 3 gaft @ 5-ga U
T E

[Question ID = 732][Question Description = 132_0_GP28_0CT22_S2_Q32]
1. 1 [Option ID = 2925]
2. 2 [Option ID = 2926]
3. 3 [Option ID = 2927]
4. 4 [Option ID = 2928]

28) Which of the following are web search engines?

A. DuckDuckGo
B. Google

C. Yahoo search
D. Bing

E, Pinterest

Cheose the correct answer from the options given below:
1.8, Cand D only
2.4 B Cand Donly
3. B and Eonly
4. A C DandE only



FHiaRad 5 9 ®F 99 99 391 o7
ASHSH

B, TFTd
C. UIg I
D. &
E, fvw

I fau e famadl 4 G Wel S 9 -
1. &9 B, C AR D
2. FadA B CHRD
3. FadBIRE
4 FaAA C DIHRE

[Question ID = 733][Question Description = 133_0_GP28_0CT22_S2_Q33]
1. 1 [Option ID = 2929]
2. 2 [Option ID = 2930]
3. 3 [Option ID = 2931]
4. 4 [Option ID = 2932]

29)  \atch List | with List 11

List | List I
(Statement) (Value)
4. The number of bits that make up a byte .5

B. Base - 10 (denary) value of the binary number;

1.8
001111

C. Number of minutes to upload a 75 megabyte I 18
file at 2 Megabits per second upload speed '

D. If there are 2° bytes in a Kilobyte then what is
the Value of P7

.15

Choose the correct answer from the options given below:
T.A-LB-ILC-1ILD-IV
2ZA-ILB-IV,E-|,D-1ll
A-NLB-IVC-1,D-1
A A-1LB-1L,C-M,D-1Il



e -1 1 -1l e B ;

|

U

A, {9y ®f 95 9] ey Ue 913 &l 6|

8. TESMHR 9= 001111 T 89- 10 @EE®) 59

C. 2 ifaey ufa Ydbe Hudis Wie R @y 75 AERe &
HEd b AUAIS & 8§ O ardd 5

D. 3f% U fhaiiaze H 2° S15¢H 8f <l P &1 d1F a1 shI?
7 feu U fdwedt © € 98 S I
1.A-LB-1,C-1I,D- IV

2A-WB-IV,C-1, D=l

3LA-NLB-IV,C-1,D-1l

4. A-1,B-1,C-VD-1I

[Question ID = 734][Question Description = 134_0_GP28_0CT22_52_Q34]
1. 1 [Option ID = 2933]
2. 2 [Option ID = 2934]
3. 3 [Option ID = 2935]
4. 4 [Option ID = 2936]

30 Given below are two statements

Statement I: ROM is temparary memory that can be
written to or read from and the contents of the memory
can be changed,

Statement ll: RAM is permanent memory that can only be
read from and contents of memory cannot be changed.

In light of the above statements, choose the most
appropriate answer from the options given below
1. Both Statement | and Statement |l are correet
2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement |l is incorrect
4. Statement | is incorrect but Statement |l is correct



i &l P R § SR 5EN & wed 1 -

YT - | : TH (ROM) ST TR & e R fae W 9aa 8
3R o IeT ol 9T & SN HERI @1 3iqde] @1 Ul
for a1 1 S g

TYT - 1| ; 3 (RAM) I 5 & Forgd &g Ugl o gl
& IR AN F1 3iTdw 3 ukefid ol fbu & 9Hd o

e BYA| & HGIH H FHfRad [adedl H 8 ¥al 3w
T -

1. WY | 3R |1 GHf Sel 8l

2.FYF | AR G TEd 8 |

3.8y 190 e, fFd ey 1 Tea 8 |

4. ®Y | G § , [ DY 1| Hal Bl

[Question ID = 735][Question Description = 135_0_GP28_0CT22_S2_Q35]
1. 1 [Option ID = 2937]
2. 2 [Option ID = 2938]
3. 3 [Option ID = 2939]
4. 4 [Option ID = 2940]

3 Given below are two statements

Statement |: Concentration of Volatile Organic Chemicals
is generally 100-1000 times higher in surface water than
underground water,

Statement |I: The most commen method of treatment of
Volatile Organic Chemicals is tc aerate them to
atmosphere.

I light of the above statements, choose the correct answer
from the options given below:

1. Both Statement | and Statement |l are true,

2. Both Statement | and Statement 1l are false.

3. Statement | is true but Statement |l is-false,

4. Statement | is false but Statement [l is true,



el ey BumE.

HY - | ; AR Bl WA B W YT 5 91
Y& W] oia 3 AR 100-1000 THT 3 Sl

HYF - || ; AT BleH® THEA & YT @ Ggiad
A B3fY 3= e | afad & 5l

Iuled YA & HEID 3 FEidiad [Geedl 3 Y Hel 9w
o -

1. 99T | 3R 1 SR T R

2. @Y | 3R 1 G e & |

3.0y Td e, g @y 1 Tad 8 |

4 T | AT, Bg I 1 TR B

[Question ID = 736][Question Description = 136_0_GP28_0CT22_52_Q36]
1. 1 [Option ID = 2941]
2. 2 [Option ID = 2942]
3. 3 [Option ID = 2943]
4. 4 [Option ID = 2944]

32) Pyrolysis-helps in addressing the Problem of

1. Air Pollution

2. Water Psllution

3. Municipal Solid Wastes-
4. Electronic Wastes

Ag-3gaed gy § ¥ v 99 & 9919E 5 98/l
Eﬂ?ﬁ%

1. A UGE0

2. 9e UG

3. R 31y smfRE

4 3oaclHe HARP

[Question ID = 737][Question Description = 137_0_GP28_0CT22_S2_Q37]
1. 1 [Option ID = 2945]
2. 2 [Option ID = 2946]
3. 3 [Option ID = 2947]
4. 4 [Option ID = 2948]

33) The period of Sendai framework for disaster risk reduction

is

.2015 -2030
. 2020 - 2040
.2015 -2025
.2020 - 2030

R O Y e



STIET AIRgH *HIHe0 oy Uols ©uxdl 31 3{afy
ICEIRITC R ATk

.2075 -2030

. 2020 - 2040

. 2015 - 2025

. 2020 - 2030

-

P v k]

[Question ID = 738][Question Description = 138_0_GP28_0CT22_52_Q38]
1. 1 [Option ID = 2949]
2. 2 [Option ID = 2950]
3. 3 [Option ID = 2951]
4. 4 [Option ID = 2952]

34 .
) Given below are two statements

Statement |: To address problem of climate change it is
essential for the world to have 'Net Zero'

carbon emissions by the year 2050.

Statement II: There is zero carbon emission associated
with-the production of gray-hydrogen.

In light of the above statements, choose the correct answer
from the options given below:

1. Both Statement | and Statement |l are true,

2. Bath Statement | and Statement |l are false.

3. Statement | is true but Statement |l is-false,

4, Statement | is false but Statement [l is true,

el ey BumE.

BY - | : Srag UNEE ®1 YAl & 9H1YH B, [9% P i
Tg 90T ¢ 19 g8 2050 O% Fad 4 TE S8eq &
T @I el B

HY - || : 0 DI Iodoi I BIEse ® Sdied & Oy
HeE

e PYA| & HSIH H FHfRad el H ¥ Wel 3w
T -

1. @Y | 3R 1 ST TR B

2. FYT | 3R 1 G e B

3.9 YT g0 8, fd Sy 1 T B |

4. ®YF | SEG © , (g DY 1| Hal &l

[Question ID = 739][Question Description = 139_0_GP28_0CT22_52_Q39]
1. 1 [Option ID = 2953]
2. 2 [Option ID = 2954]
3. 3 [Option ID = 2955]
4. 4 [Option ID = 2956]



35 .
) Given below are two statements

Statement |: Acute exposure to a chemical is a long
term continuous exposure by that chemical

Statement II: Chronic exposure to a chemical is a short
term expoasure to that chemical

In light of the above statements, choose the most
apprapriate answer from the optiens given below
1. Both Statement | and Statement |l are correct
2. Both Statement | and Statemerit || are incorrect
3. Statement | is correct but Statement |l is incorrect
4. Statement | is incorrect but Statement |l is correct

Tasiar U E:
HY - | ; Tl T @7 o8t IRTeH 39 TEH BRI BH
T SEBIe® Fod SEE

YT - 11 ; mﬁmﬁﬁmﬁa 35194 OY THITH &)
Heu@mlod 3ee3 6|

e BYA] & HSH H FHfRad el H 8 Uel 3w
T -

1. WY | 3R |1 G Dol gl

2. YT | 3R | G e g |

13y g, A e I a8 |

4. ®YT | GG &, [bq YA 1| 8l 81

[Question ID = 740][Question Description = 140_0_GP28_0CT22_52_Q40]
1. 1 [Option ID = 2957]
2. 2 [Option ID = 2958]
3. 3 [Option ID = 2959]
4. 4 [Option ID = 2960]

36) Community Colleges are supposed to offer courses that

are a mix of
1. Fing Arts and Life Skills
2. School and College Education
3. Technical and Traditional Skills
4. Knowledge, Technical and Soft Skills

Traihe Aeliaarel g1 Rufeied usgear & T a g
o ygm o1 e B T 8 7

1. Afca @ 3R Sie S

2. [aereig SR Arefagrey fan

3. APIB1 AR TRUNS DIEE

4, §H, THAID1 AR 75 DN




[Question ID = 741][Question Description = 141_0_GP28_0CT22_52_Q41]
1. 1 [Option ID = 2961]
2. 2 [Option ID = 2962]
3. 3 [Option ID = 2963]
4. 4 [Option ID = 2964]

37 The major terms of reference for the National Knowledge
Commission were

A, Challenge developed countries in Knowledge creation
B. Westernise the Indian educational system

C. Promote creation of Knowledge in science and
technology laboratories

D. Promote Knowledge applications in agriculture and
industry

E, Build excellence in education system to meet the
challenges of the twenty-first century

Choose the correct answer fram the options given below;
1.4, Band Conly
2.B, Cand D only
3.C Dand Eonly
4.4 BandEanly

1P T ST & Y [Gar e Fafifaa H e g
q:
AT o & &7 1 Sl 531 & gl o
B, YReTg RI&T Uegicl @1 WIS
c. fag we dieliffte] warmEasd | 9 94 @1 dided
D. H1Y Td IR & &7 H 11 VAR & Ui
E. 300 19d] Gal ®1 gAlag! B GiHA] B & (a8 1151 S
H Iepwa &l i
d fau 71C fadedl 4 4 el IR 91 :

1. BaA A BARC

2. ®au B, CHRD

3. ®99C, D HNE
4 HIAA B IARE

[Question ID = 742][Question Description = 142_0_GP28_0CT22_S2_Q42]
1. 1 [Option ID = 2965]
2. 2 [Option ID = 2966]
3. 3 [Option ID = 2967]
4. 4 [Option ID = 2968]



38) The acrenym "SANKALP', introduced by the Ministry of Skill

Development and Entrepreneurship, stands for ;-
1. Skill Awareness and Knowledge Assessment of
Livelihdod Promdtion
2. skill Addition and Knowledge Assessment of
Livelihcod Promation
3. Skill Acquisition and Knowledge Awareness of
Livelihcod Promation
4. Skill Attainment and Knowledge Awareness of
Livelihgod Promation

I TU U & U va Ot i ¥ feue dRm wu
THEH
2. e w8t U s siwde HfE fSaciigs waeH
3. Fpa ufedie U Aie dg e fadigs
THERA
4, Tope SEHHE US Ao 909 3P [auiEs
JHEH

[Question ID = 743][Question Description = 143_0_GP28_0CT22_S2_Q43]
1. 1 [Option ID = 2969]
2. 2 [Option ID = 2970]
3. 3 [Option ID = 2971]
4. 4 [Option ID = 2972]

39) Where is Chanzkya said to have composed his

Arthashastra 7
1. Sarnatha
2. Takshashila
3. Nalanida
4, Vikramshila

0 SRR @) =99 @el @) 4
1. FTATY
2, dEREn
3. 9refar
4, fasaren

[Question ID = 744][Question Description = 144_0_GP28_0CT22_S2_Q44]
1. 1 [Option ID = 2973]
2. 2 [Option ID = 2974]
3. 3 [Option ID = 2975]
4. 4 [Option ID = 2976]



40) Match List | with List 11

List | List 1l
Name of the : .

. Domain and Subject Matter
Subject

~ I. Agriculture, trade, commerce, animal
A, Kavya )

husbandry

B. Aniviksiki Il. Etymiology
C. Varta IIl. Logic
D. Ntrukta IV. Imaginative and creative literature

Choose the correct answer from the options given below:
TA-ILB-ULE-IV,D-|
2ZA-IVB-NILC-1,D-1
FA-NB-IVC-Il,D-1
AA-ILB-IV,C-,D -1l

Tl - @] gl -1 e DI ;

CER =l -1l

T &1 T &7 AR fawgagg

A BT |. B, YR, I, TIUeH

B. S{difafs] I1. Fs5; ST A

C. @t 111 TEB R

D. e V. FEATED AR GoTEE 9ied
4 fer e fdwedt © © W eI

TA-ILB-ULE-IV,B -]
ZA-IVB-NILC-L,D-1
SSA-ILB-IMC-I,B -
4 A-ILB-IVMC-[,D-Ill

[Question ID = 745][Question Description = 145_0_GP28_0CT22_S2_Q45]
1. 1 [Option ID = 2977]
2. 2 [Option ID = 2978]
3. 3 [Option ID = 2979]
4. 4 [Option ID = 2980]

Topic:- 13_GP_SH1_S2_C



Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was te spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

Which was the Statement of fact in the Speech of
Mahatma Gandhi at Banaras?
1. Lawyers, doctors and landlords sided with the British.
2. The Indian nationalism was elitist
3. Nationalism was of another level in India
4. The existing Indian nationalism was highly effective



ferafafad Terw #7 ufed ofiT 46 T 50 TF LT F I
gifere ;

B 1916 § &G H T4 &1 HIHU U6 w1 W ag B
T o, ST YR Apare U Sid givaen 4, foreH
FHI, Mipwmm] AR YA ® gied YrieR 4| g,
T TR R U8 38 1 @] Sy uT g TF dedd o
q1e] Tt eaide] B WA APATE Bl A B GepE
51 Gad] gy @) i a1t 35 yRdig ar &7 8T
e ggfaa wiafifia 8 9% | 99 o & Jifam g md =
@I 30 Hiiq A ® FdeR &4 ¥ URad Y- & §HIE
U 311 fGHaR 1916 § G@ H HiTad 96 H (98X &
U & feraEl 3 oY Hud wiftd | et R o
fafew ia @1 ©al - aial & -6 oIgeR & i J ga/dl
4T | T S P gy 1917 H AUAT U@y §9Y 9uRA | ol
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT ER e §1 99 1918 F T ST 307 TeAnd ToRe o

ol sfaiem 5 2T 50 9auuE 3o $uel Ha & SIRI
@] BCY d8aT B4 B 10U SEHTEIG J %4 faar §
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
T T R U 4| nyHE Y 3 @ S ol 4 T TR
Udal TS SR ST oE & o) AeRas 180 aH $1 HTHd
A |

e B A 37 FeR AFE] S GR1 TG B [Hm1E B
| 7TE] S R STl Mgl 9eH & HEF & SR
I AR UiEE YRd H dvd P 1edfd I sl |

SIRY H Al i & WIee &1 qwW $ud FEkiiEd J 9
@I | U
1. gopidl, el SR yEaniaal - Sfsi o1 ug fomr
2. HIRel1G AAFATE HiTaral 4l
3. YIRS # AFAIG 30 TR P Ul
4. TaEr HRTE aTG Sid gHTE! ol

[Question ID = 746][Question Description = 146_0_GP28_0CT22_S2_Q46]
1. 1 [Option ID = 2981]
2. 2 [Option ID = 2982]
3. 3 [Option ID = 2983]
4. 4 [Option ID = 2984]



2)

Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was te spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

Gandhiji's speech expressed the intention of

1. Making Indian nationalism mere representative

2. Announcing the desire of expatriates to become
politically active

3. Criticising the activities of Indian natienalists

4 Launching a new nationalist movement



ferafafad Terw #7 ufed ofiT 46 T 50 TF LT F I
gifere ;

B 1916 § &G H T4 &1 HIHU U6 w1 W ag B
T o, ST YR Apare U Sid givaen 4, foreH
FHI, Mipwmm] AR YA ® gied YrieR 4| g,
T TR R U8 38 1 @] Sy uT g TF dedd o
q1e] Tt eaide] B WA APATE Bl A B GepE
51 Gad] gy @) i a1t 35 yRdig ar &7 8T
e ggfaa wiafifia 8 9% | 99 o & Jifam g md =
@I 30 Hiiq A ® FdeR &4 ¥ URad Y- & §HIE
U 311 fGHaR 1916 § G@ H HiTad 96 H (98X &
U & feraEl 3 oY Hud wiftd | et R o
fafew ia @1 ©al - aial & -6 oIgeR & i J ga/dl
4T | T S P gy 1917 H AUAT U@y §9Y 9uRA | ol
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT ER e §1 99 1918 F T ST 307 TeAnd ToRe o

ol sfaiem 5 2T 50 9auuE 3o $uel Ha & SIRI
@] BCY d8aT B4 B 10U SEHTEIG J %4 faar §
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
T T R U 4| nyHE Y 3 @ S ol 4 T TR
Udal TS SR ST oE & o) AeRas 180 aH $1 HTHd
A |

e B A 37 FeR AFE] S GR1 TG B [Hm1E B
| 7TE] S R STl Mgl 9eH & HEF & SR
I AR UiEE YRd H dvd P 1edfd I sl |

el < & yren § Fgfafas & 9 g e 91 sftefea
gs di?
1. YRAE AParE @ AR AYE ufaEe @ed o
2. FEdl & Tenae ©U 4 9ied oH ©1 3531 &)
I B
3. YA APAIG & BEGA B SATarEH] S
4. T APAIG] AT HRH BT

[Question ID = 747][Question Description = 147_0_GP28_0CT22_S2_Q47]
1. 1 [Option ID = 2985]
2. 2 [Option ID = 2986]
3. 3 [Option ID = 2987]
4. 4 [Option ID = 2988]



3)

Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was te spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

Gandhijl could put his precept into practice during

1. The Lucknow mieeting

2. The talks with landlords

3. The Champaran campaign

4, Tnie interaction with nationalist leaders



ferafafad Terw #7 ufed ofiT 46 T 50 TF LT F I
gifere ;

B 1916 § &G H T4 &1 HIHU U6 w1 W ag B
T o, ST YR Apare U Sid givaen 4, foreH
FHI, Mipwmm] AR YA ® gied YrieR 4| g,
T TR R U8 38 1 @] Sy uT g TF dedd o
q1e] Tt eaide] B WA APATE Bl A B GepE
51 Gad] gy @) i a1t 35 yRdig ar &7 8T
e ggfaa wiafifia 8 9% | 99 o & Jifam g md =
@I 30 Hiiq A ® FdeR &4 ¥ URad Y- & §HIE
U 311 fGHaR 1916 § G@ H HiTad 96 H (98X &
U & feraEl 3 oY Hud wiftd | et R o
fafew ia @1 ©al - aial & -6 oIgeR & i J ga/dl
4T | T S P gy 1917 H AUAT U@y §9Y 9uRA | ol
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT ER e §1 99 1918 F T ST 307 TeAnd ToRe o

ol sfaiem 5 2T 50 9auuE 3o $uel Ha & SIRI
@] BCY d8aT B4 B 10U SEHTEIG J %4 faar §
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
T T R U 4| nyHE Y 3 @ S ol 4 T TR
Udal TS SR ST oE & o) AeRas 180 aH $1 HTHd
A |

e B A 37 FeR AFE] S GR1 TG B [Hm1E B
| 7TE] S R STl Mgl 9eH & HEF & SR
I AR UiEE YRd H dvd P 1edfd I sl |

e o 5 3 e w1y @1 Fetiad 8 © fde R
wli-ad fodT 7

1. TEAS T4

2, 1Al & 9y a9l

3. 99RA TATE

4. AFTGETC] ATl & 9y STl

[Question ID = 748][Question Description = 148_0_GP28_0CT22_S2_Q48]
1. 1 [Option ID = 2989]
2. 2 [Option ID = 2990]
3. 3 [Option ID = 2991]
4. 4 [Option ID = 2992]



Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was te spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

Which issue propelled Gandhiji to the national stage for a
wider moverment?
1. Labour dispute of textile mill workersin Ahmedabad
2. Agitation peasanis in Kheda
3. The revolt against British Indigo planters
4, The Rowlatt Act



ferafafad Terw #7 ufed ofiT 46 T 50 TF LT F I
gifere ;

B 1916 § &G H T4 &1 HIHU U6 w1 W ag B
T o, ST YR Apare U Sid givaen 4, foreH
FHI, Mipwmm] AR YA ® gied YrieR 4| g,
T TR R U8 38 1 @] Sy uT g TF dedd o
q1e] Tt eaide] B WA APATE Bl A B GepE
51 Gad] gy @) i a1t 35 yRdig ar &7 8T
e ggfaa wiafifia 8 9% | 99 o & Jifam g md =
@I 30 Hiiq A ® FdeR &4 ¥ URad Y- & §HIE
U 311 fGHaR 1916 § G@ H HiTad 96 H (98X &
U & feraEl 3 oY Hud wiftd | et R o
fafew ia @1 ©al - aial & -6 oIgeR & i J ga/dl
4T | T S P gy 1917 H AUAT U@y §9Y 9uRA | ol
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT ER e §1 99 1918 F T ST 307 TeAnd ToRe o

ol sfaiem 5 2T 50 9auuE 3o $uel Ha & SIRI
@] BCY d8aT B4 B 10U SEHTEIG J %4 faar §
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
T T R U 4| nyHE Y 3 @ S ol 4 T TR
Udal TS SR ST oE & o) AeRas 180 aH $1 HTHd
A |

e B A 37 FeR AFE] S GR1 TG B [Hm1E B
| 7TE] S R STl Mgl 9eH & HEF & SR
I AR UiEE YRd H dvd P 1edfd I sl |

Frafafad & | fow g - 7 of & Wp1a w1 ) s
g & o Ui fean

1. IEYAIEE 4 $US Hd HeRI ®I 59 dag

2. WE1 & fpart &7 sifaied

3. ic Pu®I @] HU= & (G 9ale

4. e ae

[Question ID = 749][Question Description = 149_0_GP28_0CT22_S2_Q49]
1. 1 [Option ID = 2993]
2. 2 [Option ID = 2994]
3. 3 [Option ID = 2995]
4. 4 [Option ID = 2996]



5)

Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was te spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

The main intent of the passage is to deseribe

1. The British atrocities in India

2. The different facets of Indian national movement

3. The various campaigns against the British in [ndia

4, The emergence of Gandhiji as a representative
national leader



FrafafeEa e o1 ufed ot 46 & 50 TH U F I
gifeg ;

W] 1916 § §910G H 77| &1 HTHY] U &8 W a9 oy
T o, ST YR Apare U Sid givaen 4, foreH
TE, Fafem! R Y @1 Oty uRer 6| g
O TR W T8 39 A1 3 oy o1 fagd GF dlead o
aTe WAt SHiaad] @1 HRKY JPAIG Pl U Bl Sy
BT G SUINOn &1 7TH] A 59H YRa™ aill @1 3
i@ TR Ui 5 59 39 9y & s 71 T @
@1 (0 i 919 B agR €U ¥ URad B B gHaw
U g1 fETeR 1916 & vi@3 § HAIod 96 J (98K &
dURA & far! - 374 Hud g o | e g/ 3=
fafem +ia @1 T - aral & H64 9geR & gR H gad
T | e @] @Y 1917 | AT SiUdmiS §ug 9ueA 3 o
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT H 16 41 T8 1918 F TR S 307 TTeReg o o

&1 Hffgiemt | anfhd gU) 99y 36 Bugl Ha & sHaRl
@ DRCY d5at B & (08 HEHGIEIE | 94 ([9aG H
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
3 ol g O 4| 0yE 9% 08 & eRE o9 4 TR
Udal TS SR ST oE & o) AeRas 180 aH $1 HTHd
A |

Jcie 9fEfT A 3 SR aFel B §R) e @) whE &t
71 7Tl i gR1 ST Sigle 99 § HEH & SR
I AR UiEE YRd H dvd P 1edfd I sl |

T & 5% 9E R FEfatad o | g g e 8 7
1. YIRa H feifew @R
2. YR AP SHigie & H ua
3. YRa H UGl & 9w [Afay sivae
4. 71 St 1 Uit g A & wu H anfaula

[Question ID = 750][Question Description = 150_0_GP28_0CT22_S2_Q50]
1. 1 [Option ID = 2997]
2. 2 [Option ID = 2998]
3. 3 [Option ID = 2999]
4. 4 [Option ID = 3000]




